BASIC

Mathematica 20

Ji1
Jii- [HOo_yio
100 10
V110 =[10;2,20,2,20,2,20, ]=[10;2,20]

10 21 430 881 18050 36981 757670 1552321
17274184 1721 ' 3526 ' 72241 ' 148008

i-1 21 43 881 1805 36981 75767 1552321
' '20' 418401721 35260 722411480080

V11
J1.1=[120,2,20,2,20,2, ]=[L20,2]

1 21 43 881 1805 36981 75767 1552321
~7'20'41'840 172135260 722411480080

21° ~1.120° = 441-1.1400441-440=1



X+ yy/1.1= (21+2041.1)"

2

100

V12,4120

V1.2 =[110,210,210,2, ]=[110.2]

V120 =[10:1,20,1,20,1,20, ]=[10;1,20]

V13=[17,727,72772, 1=[177.2]
V130 =[11,2,2,22,2,2,22,2,2,22, ]1=[112,2,22]

V14 =[1525252 1=[L52] ~/140 =[11141 22]

V15 =[L4,2] V150 =[12;4,24]
V1.6 =[1;313,2] V160 =[12;1115111,24]
V17 =[£33,2] V170 =[13;26]

V1.8 =[1,21121,2,2] +/180 =[13;2,2,2, 26]
V1.9 =[12,111,31,261,31,26,1,3111,2,2]

V190 =[13;1,3111,2,2,2,11,1,3 1, 26]



J0.1=[0:3,6]
J0.3=[01,1,41,2]
V0.5 =[01,2]
J0.7 =[04,58)5,2]

J0.9 =[0:1,18,2]

1

10
21

100 FOR d=1.01 TO 9.99 STEP 0.01

111
112
113
115
120
130
140
150
160

FOR i=1.1 TO 9.9 STEP 0.1
IF d=i~2 THEN GO TO 525

NEXT i

LET a=INT(SQR(d))

LET ml=a

LET m2=1

LET m3=1

LET m4=0

LET s=1

J0.2 =[0;2,4]
J0.4 =[0:,11,2]
J0.6 =[0:1,3,2]

J0.8 =[0:1,8,2]
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LET b=m1/2-d*m3"2
PRINT d;s;ml;m3;b
LET s=1
LET m=1
FOR k=1 TO 10
DO
LET mml=ml1*n+m2
LET mm2=ml
LET mm3=m3*n+m4
LET mm4=m3
LET b=mm1A2-d*mm3A2
IF b<0 THEN GO TO 260
LET n=n+1
LOOP
LET mml=mml-ml
LET mm3=mm3-m3
LET ml=mml
LET m2=mm2
LET m3=mm3
LET m4=mm4
LET b=m1/"2-d*m3"2
PRINT d;s+1;n-1;m1;m3;b
LET s=s+1
DO
LET mml=m1*m+m2
LET mm2=ml
LET mm3=m3*m+m4
LET mm4=m3
LET b=mm1A2-d*mm3A2
IF b>0 THEN GO TO 430
LET m=m+1
LOOP
LET mml=mml-ml
LET mm3=mm3-m3
LET ml=mml
LET m2=mm2



470
480
490
500
510
511
512
520
525
530

100
111
112
113
115
120
130
140
150
160
163
165
170
180
190
200
210
220
230
240
250
251
260
270

LET m3=mm3

LET m4=mm4

LET b=m1/"2-d*m3"2

PRINT d;s+1;m-1;m1;m3;b
LET s=s+1

LET n=1

LET m=1

NEXT k

NEXT d
END

FOR d=
FOR

1.01 TO 9.99 STEP 0.01
i=1.1 TO 9.9 STEP 0.1
IF d=i"2 THEN GO TO 525

NEXT i

LET
LET
LET
LET
LET
LET
LET
LET
FOR

a=INT(SQR(d))
ml=a
m2=1
m3=1
m4=0
s=1
n=1
m=1
k=1 TO 10000
DO
LET mml=ml1*n+m2
LET mm2=ml
LET mm3=m3*n+m4
LET mm4=m3
LET b=mm1A2-d*mm3A2
IF b<0 THEN GO TO 260
LET n=n+1
LOOP
LET mml=mml-ml
LET mm3=mm3-m3



280 LET ml=mml

290 LET m2=mm2

300 LET m3=mm3

310 LET m4=mm4

320 LET b=m172-d*m3~2

321 IF b<>1 THEN GO TO 340
330 PRINT d;s+1;m1;m3;b
331 GO TO 525

340 LET s=s+1

350 DO

360 LET mml=m1*m+m2

370 LET mm2=ml

380 LET mm3=m3*m+m4

390 LET mm4=m3

400 LET b=mm1A2-d*mm3A2
410 IF b>0 THEN GO TO 430
411 LET m=m+1

420 LOOP

430 LET mml=mml-ml

440 LET mm3=mm3-m3

450 LET ml=mml

460 LET m2=mm2

470 LET m3=mm3

480 LET m4=mm4

490 LET b=m1/72-d*m3~2

491 IF b<>-1 THEN GO TO 510
500 PRINT d;s+1;m1;m3;b
510 LET s=s+1

511 LET n=1

512 LET m=1

520 NEXT k

525 NEXT d

530 END



